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Part One:

Directions: Choose the best item (a, b, ¢, or d) for the underlined words or phrases in the
following sentences.

1. The company conducted a survey of its new product among the consumers.

a. distributers b. producers C. users d. sellers
2. As the economic recession continued, many firms were forced into insolven

a. close down b. inability to pay debts  c¢. dissolve

3. Deflating the value of the dollar means more currency is
a. excluding b. reducing ¢. contractin
4. The value of the flour, sugar, baking povgler i baking a cake is not included in GNP

since they are intermediate goods,

a. end products that are sold pw material
c. different parts of an outffu d. production costs
5. The wants of two individuzts d have to be identically matched for the exchange to take

place.

O
a. possibly referabiy c. certainly d. similarly

6. The ba G esitant about giving a loan to the businessman because his project was
. #&-and there were no guarantee of success.
a bstantial b. unpractical ¢. uncertain d. risky
7. The price of bonds fluctuates from day to day on the open market.
a. runs b. changes ¢. produces d. passes
8. Consumers dislike inflation because it is often associated with disturbances, such as the oil
price shocks, that reduce their real incomes.
a. connected b. grew ¢. created d. noted
9. One of the central facts of policy is that the effects of monetary and fiscal policy on the

economy are not fully predictable.

a. interest rates b. exports c. imports d. taxes
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10. Two markets are for stocks and two for flows.
a. goods and labour b. assets and taxes
¢. money and bonds d. incomes and taxes
11. In dealing with the essentials, we have to disregard details of the behavior of individual
economic units, such as houscholds and firms.

a. commonly mentioned b. extremely important

c. closely related d. primarily emphfisizi

12. The relation is a useful guide to policy because it al ask Bow a particular growth

target will affect the unemployment rate over time.

a. goal b. policy @ch ﬁ d. strategy
13. Firms and households tend to insure against sk’ by holding some fraction of their wealth
in money and the rest in earning assg
a. motivation b. blarice c. protection d. portion
Part two: Select the be ice (a, b, ¢, or d) that completes the following sentences.
14. When the resp s available for producing output are ............... , the costs will go up.
b. scarcity C. scarce d. scarcely
15. Royerty)fesults not from the fact that there is enough to go around, but from the fact that what
............... equally
a. sold b. distributed ¢. decided d. needed
16. The problem of racial ............. has important economic effects on individuals and on the
economy.
a. discrimination b. transportation ¢. combination d. unemployment

17. The production of the best or optimal combination of outputs by means of the most efficient

combination of inputs is called ................. efficiency.
a. inflation b. consumption c. qualification d. allocation
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18. A fixed payment at regular intervals for servicesis called ............... .
a. money b. salary c. minimum wage  d. compensation
19. Unemployment ................. is a program to protect workers against complete loss of

earnings in the event of unemployment.

a. assessment b. evaluation ¢. insurance d. rule

20. Proper .......ooiiiiii. means making sure that each purchase is worth its oppoktyity cost.

21.The ..ovoeeviinis value of the car after two years comes 4

d. depreciation

22, iversiti POUS TN E Mo they have a large sums of
a. markets d. regression

23. As a machine is \praduction, its value is transferred to the product that is
produced and sold.
a. included

24. A person, buskiess)~-of firm that provide building materials or labor for building job is called

-------

b. contractor ¢. consumer d. cooperator
25. The~members ofthecartel ............... the price of oil in order to decrease consumption and
waste.
a. fixed b. understood ¢. provided d. attracted
26. Many professional .................... , like teachers and civil servants, are hired on annual

contracts and some even have life tenure in their jobs.
a. producers b. employers ¢. customers d. employees

27. The intermediate stage in the chain of distribution between the manufacturer and the retailer

isthe ................. i
a. supplier b. middlemen c. distributor d. wholesaler
lQoliuu|)u3.o)T._N|3mc‘u5.m._§)bLy)J&olé wMJTdu)gaTdummngMlxo._ﬂ})A
Sanjesh?) com OV-AFOA-AN www SanjeshT.com

r



Jjo Sl A play ol

M R IR Y iy

G — gl Gl v Sy il gl vy s
[ phlaspai i ¥lpe 5 g e clid K i il sl ]
¥ oladia K olias A~ Ao Jlusasi
28. The company hadawell ................ profit after successfully fulfilling that major contract.
a. transfering b. costing ¢. earning d. spending

Part three: Reading comprehension. Read the following passage carefully and answer the
questions that follow.

Money is so widely used that we rarely step back to think how remarkable a
device it is. It is impossible to imagine a modern economy operating

the use of money or something very much like it. In a m
economy in which there is no money, every transaction ha ‘ nvgive) dn
exchange of goods (and/or services) on both sides of the

d a tailor wanting to
ange, modern economies

29. Aceerding to the above passage concept, if rocks were generally accepted by everyone is an
exchange, rocks would be considered as ................ .
a. metal b. money ¢. mineral d. geology
30. By the double coincidence, we mean ................... .
a. That a modern economy operating without money is possible.
b. every transaction has to involve an exchange of any goods.
c. that without a medium of exchange, economy could operate properly.

d. the wants of two individuals would have to be identically matched for the exchange to take

place.
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